



Wisconsin Department of Transportation

Division of Transportation Systems Development

Bureau of Project Development
4822 Madison Yards Way, 4th Floor South
Madison, WI 53705

March 4, 2026

Telephone: (608) 266-1631
Facsimile (FAX): (608) 266-8459

NOTICE TO ALL CONTRACTORS:

Proposal #23: 4984-24-75, WISC 2026230
C Appleton, Lawe Street
College Avenue to Wisconsin Avenue
Loc Str
Outagamie County

Letting of March 10, 2026

This is Addendum No. 01, which provides for the following:

Special Provisions:

| Revised Special Provisions | |
|----------------------------|---|
| Article No. | Description |
| 4 | Traffic |
| 5 | Holiday and Special Event Work Restrictions |

Schedule of Items:

| Revised Bid Item Quantities | | | | | |
|-----------------------------|--------------------------------------|------|----------------------------------|------------------------------|-------------------------------|
| Bid Item | Item Description | Unit | Proposal Total Prior to Addendum | Proposal Quantity Change (-) | Proposal Total After Addendum |
| 644.1440 | Temporary Pedestrian Surface Matting | SY | 695 | 655 | 1350 |

| Added Bid Item Quantities | | | | | |
|---------------------------|------------------|------|----------------------------------|----------------|-------------------------------|
| Bid Item | Item Description | Unit | Proposal Total Prior to Addendum | Quantity Added | Proposal Total After Addendum |
| 455.0605 | Tack Coat | Gal | 0 | 36 | 36 |

Plan Sheets:

| Revised Plan Sheets | |
|----------------------------|---|
| Plan Sheet | Plan Sheet Title (brief description of changes to sheet) |
| 104 | Miscellaneous Quantities (Added tack coat) |
| 116 | Miscellaneous Quantities (Revised last row of table) |

The responsibility for notifying potential subcontractors and suppliers of these changes remains with the prime contractor.

Sincerely,

Mike Coleman

Proposal Development Specialist
Proposal Management Section

ADDENDUM NO. 01

4984-24-75

March 4, 2026

Special Provisions

4. Traffic

*Replace paragraph one under section titled **Pedestrian Accommodation** with the following:*

Maintain continuous sidewalk along one side of Lawe Street for each stage as shown in plan at all times and as described as follows. Use temporary pedestrian accommodation at side streets under construction.

On the west side of Lawe Street, between College Avenue and Washington Street, maintain pedestrian access on existing concrete, new concrete, or temporary pedestrian surface matting from the start of construction through June 21, 2026, for activities at Lawrence University.

5. Holiday and Special Event Work Restrictions

Replace last paragraph of article with the following:

Do not haul materials of any kind along or across any portion of Lawe Street between College Avenue and Washington Street and Washington Street including Lawe Street intersection, and entirely clear the traveled way and shoulders of such portions of the highway of equipment, barricades, signs, lights, and any other material that might impede the free flow of traffic during the following:

Maintain Lawe Street and Washington Street on a minimum of a base aggregate dense surface

- From 12:00 PM Friday, June 12, 2026 to 6:00 AM Monday, June 15, 2026 for Lawrence University Spring Commencement.
- From 12:00 PM Friday, June 19, 2026 to 6:00 AM Monday, June 22, 2026 for Lawrence University Alumni Weekend.

Schedule of Items

Attached, dated March 4, 2026, are the revised Schedule of Items Pages 7 and 11.

Plan Sheets

The following 8½ x 11-inch sheets are attached and made part of the plans for this proposal:

Revised: 104 and 116.

END OF ADDENDUM

Addendum No. 01
ID 4984-24-75
Revised Sheet 116
March 4, 2026

TEMPORARY PEDESTRIAN ACCOMMODATIONS

| STATION | TO STATION | LOCATION | DAYS | TRAFFIC CONTROL | | TRAFFIC CONTROL SIGNS | | TEMPORARY PEDESTRIAN SURFACE MATTING | | TEMPORARY PEDESTRIAN DETECTABLE CURB RAMP | | TEMPORARY PEDESTRIAN MESSAGE DEVICES | | REMARKS | |
|---------|------------|------------------------|------|-----------------|-------|-----------------------|-------|--------------------------------------|-------|---|-----|--------------------------------------|-----|---------|---|
| | | | | NO. IN SERVICE | DAY | NO. IN SERVICE | DAY | NO. IN SERVICE | DAY | NO. IN SERVICE | DAY | NO. IN SERVICE | DAY | | |
| 99+53 | - 100+63 | EAST COLLEGE AVE | 20 | 0 | 0 | 8 | 160 | 0 | 0 | 0 | 0 | 42 | 4 | 80 | STAGE 1 |
| 19+53 | - 19+85 | EAST WASHINGTON STREET | 60 | 0 | 0 | 4 | 240 | 0 | 0 | 0 | 0 | 36 | 0 | 0 | STAGE 1 |
| 20+14 | - 20+47 | EAST WASHINGTON STREET | 60 | 10 | 600 | 4 | 240 | 100 | 2 | 120 | 20 | 120 | 4 | 240 | STAGE 1 |
| 29+55 | - 29+86 | EAST FRANKLIN STREET | 60 | 0 | 0 | 4 | 240 | 0 | 0 | 0 | 0 | 36 | 0 | 0 | STAGE 1 |
| 30+14 | - 30+40 | EAST FRANKLIN STREET | 60 | 10 | 600 | 4 | 240 | 80 | 2 | 120 | 20 | 84 | 4 | 240 | STAGE 1 |
| 39+53 | - 39+86 | EAST EL DORADO STREET | 60 | 0 | 0 | 4 | 240 | 0 | 0 | 0 | 0 | 36 | 0 | 0 | STAGE 1 |
| 40+14 | - 41+10 | EAST EL DORADO STREET | 60 | 10 | 600 | 4 | 240 | 100 | 2 | 120 | 20 | 110 | 4 | 240 | STAGE 1 |
| 49+50 | - 49+81 | EAST NORTH STREET | 60 | 0 | 0 | 2 | 120 | 0 | 0 | 0 | 0 | 18 | 0 | 0 | STAGE 1 MAINTAIN NORTH CROSSING OF LAWEST |
| 50+18 | - 51+12 | EAST NORTH STREET | 60 | 10 | 600 | 3 | 180 | 80 | 2 | 120 | 20 | 136 | 4 | 240 | STAGE 1 MAINTAIN NORTH CROSSING OF LAWEST |
| 49+50 | - 49+81 | EAST NORTH STREET | 60 | 0 | 0 | 2 | 120 | 0 | 0 | 0 | 0 | 18 | 0 | 0 | STAGE 2 MAINTAIN SOUTH CROSSING OF LAWEST |
| 50+18 | - 51+12 | EAST NORTH STREET | 60 | 10 | 600 | 4 | 240 | 80 | 2 | 120 | 20 | 124 | 4 | 240 | STAGE 2 MAINTAIN SOUTH CROSSING OF LAWEST |
| 59+45 | - 59+82 | EAST PACIFIC STREET | 60 | 0 | 0 | 4 | 240 | 0 | 0 | 0 | 0 | 36 | 0 | 0 | STAGE 2 |
| 60+18 | - 60+93 | EAST PACIFIC STREET | 60 | 10 | 600 | 4 | 240 | 30 | 2 | 120 | 20 | 150 | 4 | 240 | STAGE 2 |
| 69+40 | - 69+86 | EAST ATLANTIC STREET | 60 | 0 | 0 | 4 | 240 | 0 | 0 | 0 | 0 | 40 | 0 | 0 | STAGE 2 |
| 70+14 | - 71+11 | EAST ATLANTIC STREET | 60 | 10 | 600 | 4 | 240 | 80 | 2 | 120 | 20 | 138 | 4 | 240 | STAGE 2 |
| 79+50 | - 79+86 | EAST HANCOCK STREET | 60 | 0 | 0 | 4 | 240 | 0 | 0 | 0 | 0 | 36 | 0 | 0 | STAGE 2 |
| 80+14 | - 80+54 | EAST HANCOCK STREET | 60 | 10 | 600 | 4 | 240 | 65 | 2 | 120 | 20 | 258 | 4 | 240 | STAGE 2 |
| 89+50 | - 90+00 | EAST SPRING STREET | 60 | 0 | 0 | 4 | 240 | 0 | 0 | 0 | 0 | 36 | 0 | 0 | STAGE 2 |
| 134+75 | - 135+50 | LAWEST STREET | 60 | 10 | 600 | 4 | 240 | 80 | 2 | 120 | 20 | 76 | 2 | 120 | STAGE 2 |
| 100+50 | - 101+80 | LAWEST STREET | 60 | 0 | 0 | 0 | 0 | 655 | 0 | 0 | 0 | 0 | 0 | 0 | STAGE 1 |
| TOTALS | | | | 5,400 | 4,180 | 1,350 | 1,080 | 180 | 1,530 | 2,120 | | | | | |

*ADDITIONAL QUANTITIES SHOWN ELSEWHERE

ITEMS ARE CATEGORY 00.10 UNLESS OTHERWISE NOTED

SHEET: 116

MISCELLANEOUS QUANTITIES

COUNTY: OUTAGAMIE

HWY: LAWE STREET

PROJECT NO: 4984-24-75

FILE NAME: N:\PDS\1030200_mq.ppk

PLOT DATE: February 26, 2026

PLOT BY: A.R.H.

PLOT SCALE: 1:1

E



Proposal Schedule of Items

Proposal ID: 20260310023 Project(s): 4984-24-75

Federal ID(s): WISC 2026230

SECTION: 0001 Contract Items

Alt Set ID: Alt Mbr ID:

| Proposal Line Number | Item ID Description | Approximate Quantity and Units | Unit Price | Bid Amount |
|----------------------|---|--------------------------------|------------|------------|
| 0182 | 644.1440 Temporary Pedestrian Surface Matting | 1,350.000 SF | _____. | _____. |
| 0184 | 644.1601 Temporary Pedestrian Curb Ramp | 1,080.000 DAY | _____. | _____. |
| 0186 | 644.1605 Temporary Pedestrian Detectable Warning Field | 180.000 SF | _____. | _____. |
| 0188 | 644.1810 Temporary Pedestrian Barricade | 1,530.000 LF | _____. | _____. |
| 0190 | 644.1900.S Temporary Audible Message Devices | 2,120.000 DAY | _____. | _____. |
| 0192 | 645.0111 Geotextile Type DF Schedule A | 50.000 SY | _____. | _____. |
| 0194 | 645.0145.S Geogrid Type SR-2 | 16,860.000 SY | _____. | _____. |
| 0196 | 646.1020 Marking Line Epoxy 4-Inch | 5,560.000 LF | _____. | _____. |
| 0198 | 646.2020 Marking Line Epoxy 6-Inch | 7,830.000 LF | _____. | _____. |
| 0200 | 646.3020 Marking Line Epoxy 8-Inch | 570.000 LF | _____. | _____. |
| 0202 | 646.5020 Marking Arrow Epoxy | 32.000 EACH | _____. | _____. |
| 0204 | 646.5120 Marking Word Epoxy | 4.000 EACH | _____. | _____. |
| 0206 | 646.5220 Marking Symbol Epoxy | 23.000 EACH | _____. | _____. |
| 0208 | 646.5320 Marking Railroad Crossing Epoxy | 2.000 EACH | _____. | _____. |
| 0210 | 646.6120 Marking Stop Line Epoxy 18-Inch | 175.000 LF | _____. | _____. |
| 0212 | 646.7120 Marking Diagonal Epoxy 12-Inch | 210.000 LF | _____. | _____. |



Proposal Schedule of Items

Proposal ID: 20260310023 Project(s): 4984-24-75

Federal ID(s): WISC 2026230

SECTION: 0001 Contract Items

Alt Set ID: Alt Mbr ID:

| Proposal Line Number | Item ID Description | Approximate Quantity and Units | Unit Price | Bid Amount |
|----------------------|-----------------------|--------------------------------|-------------------|------------|
| 0296 | 455.0605 Tack Coat | 36.000 GAL | _____. | _____. |
| Section: 0001 | | | Total: | _____. |
| | | | Total Bid: | _____. |

